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QUESTION 1

You have installed an AS ABAP+Java system and the default UME configuration was not changed. Which of the
following statements are true (for one client of the AS ABAP system)? (Choose two)

A. ABAP authorization profiles appear as UME security roles.

B. The assignment of ABAP users to ABAP groups appears as the assignment of UME users to UME roles.
C. ABAP roles appear as UME groups.

D. The assignment of ABAP users to ABAP roles appears as the assignment of UME users to UME groups.

Correct Answer: CD

QUESTION 2

Which settings are necessary for activating the integrated ITS?

A. Set the profile parameter itsp/enable to 1.

B. Set the profile parameter rdisp/optimize_web_app to 1.

C. You need to deploy the necessary HTML templates on the operating system level.
D. Configure the HTML cache of the SAP NetWeaver AS Java.

Correct Answer: A

QUESTION 3
Which of the following statements regarding the transaction RZ10 are true? (Choose two)

A. When you use the save button in RZ10 and activate the profile, it will be written immediately to the operating system
level.

B. You can compare the profile file on the operating system with the profile in the database.
C. The default profile cannot be maintained using transaction RZ10.
D. The maintained parameters will take effect immediately after the profile is activated in the RZ10.

Correct Answer: AB

QUESTION 4

The Integrated Log Viewer is presented as a service of SAP NetWeaver AS Java. It provides runtime control for working
with log messages. Which of the following statements about the Integrated Log Viewer is true?
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A. Log Viewer is the right tool for setting and modifying Severity levels.

B. The Integrated Log Viewer provides options for log and trace configuration. You can add new locations and
categories and change the configuration of the existing ones.

C. The Integrated Log Viewer can merge logs within an SAP NetWeaver AS Java instance.

Correct Answer: C

QUESTION 5

Which traces can be switched on and off from within the SAP system without restarting the instance? (Choose two)
A. Buffer Trace

B. SYSLOG Trace

C. SQL Trace for ABAP-based applications

Correct Answer: AC

QUESTION 6

Which of the following statements regarding the communication between a SAP system and an external Message
Transfer Agent (MTA) using SMTP are correct?

A. The SAP NetWeaver AS ABAP can send mails to only one specific MTA per SAP client.
B. The SAP NetWeaver AS ABAP cannot automatically forward incoming mails to other domains.
C. The SAP NetWeaver AS ABAP provides the full functionality of a Message Transfer Agent (MTA).

D. To send e-mails to an MTA, or to receive emails from an MTA using SMTP, the SAP NetWeaver AS ABAP must
have the ST-MAIL plugin, which needs to be installed using transaction SAINT.

Correct Answer: AB

QUESTION 7

In SAP NetWeaver AS Java, you can configure the severity for logs and traces. Which statement is true?
A. You can configure the severity for a tracing location with the Standalone Log Viewer.

B. You can configure the severity for a logging category with SAP NetWeaver Administrator (NWA).

C. You can configure the severity for a whole sub-tree of logging destinations with SAP NetWeaver Administrator
(NWA).

Correct Answer: B
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QUESTION 8
Which statement regarding front end printing with SAP NetWeaver AS ABAP is correct?
A. It is not possible to configure an output device for front end printing with SAP GUI for Java.

B. If you want to configure an output device for front end printing with SAP GUI for Windows, you should choose access
method G.

C. If you want to configure an output for front end printing with SAP GUI for HTML, you have to choose access method
G.

Correct Answer: B

QUESTION 9

Every SQL Server database stores its data in various types of operating system files. To administer a database, it is
important to understand its physical structure. Which files are always required? (Choose three)

A. At least one secondary file is always required, because every database always uses at least two files.
B. The primary file stores the log information used to recover the database.

C. Secondary files are used to store data.

D. The primary file is always required.

E. Data and log information are never stored in the same file.

Correct Answer: CDE

QUESTION 10

You want to improve the data access performance for your SAP database and also to avoid its deterioration in future.
Which is the best strategy?

A. Use as many data files as there are CPUs dedicated to the SQL Server.
B. Use as many data files as there are CPUs on the database host.

C. When the database is growing, regularly create new data files for new data to avoid uncontrolled growth of existing
files, because data access performance directly depends on the size of the data files.

D. Keep number of data files of the SAP database and of the tempdb database approximately equal.

Correct Answer: A

QUESTION 11

Which of the following statements concerning the Change and Transport System are correct? (Choose two)
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A. The transport directory is given by the parameter DIR_TRANS.
B. Small corrections on ABAP programs can be done safely in the production system.
C. Newly created (and empty) customizing change requests always have one or more tasks.

Correct Answer: AC

QUESTION 12

Which of the following terms are correlated to the (ABAP-based) SAP system monitoring infrastructure? (Choose two)
A. Alert Memory

B. Alert Server

C. Data Supplier

D. Monitoring Tree Element

Correct Answer: CD

QUESTION 13

After establishing a three-system landscape transport environment for SAP systems based on AS ABAP, a developer
has released a transport request in the DEV system. You now receive a mail with the transport request number from the
developer and your job is to import this request into the QAS system. However, even after pressing the refresh button
several times, the import queue of the QAS systems seems to be empty. Which of the following are possible reasons for
this problem? (Choose two)

A. The systems DEV and QAS belong to different transport groups.

B. The repository objects in this transport request belong to a package (formerly development class) that points to a
transport layer, which in turn does not point to the QAS system.

C. You do not have the necessary authorizations to refresh the import queue of the QAS system.

D. A virtual system exists in your transport landscape. Once you have a virtual system in your transport landscape the
import buffers are empty.

Correct Answer: AB

QUESTION 14

Which of the following statements regarding the Java Message Server are correct? (Choose two)

A. Itis not a critical component of SAP NetWeaver AS system and it can be stopped when not in use.
B. It can supply information to the SAP Web Dispatcher about the status of AS Java instances.

C. It keeps a list of all active AS Java instances.
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Correct Answer: BC

QUESTION 15

Which SAP products use SAP NetWeaver? (Choose three)
A. SAP ERP

B. SAP Business All-In-One

C. SAP CRM

D. SAP R/3 4.6C

Correct Answer. ABC
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